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J+1+d=

T+T+T=

H+T+T =

2+ +d=

q+2 +7 =

H+H+{=

qd+T +1=

T+d+F =

F+H+1=
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A+ +9+6 = H+T+E+T =
+1{+TMT+H = : B+{+Q +H=
+<+H+dE = H+H+T{+ =
N+T+H+T = AU +E 4+ =
g+1+H+9 = h+H+T+d=
H+E+H+d = Q+H+Q +H =
_HL*# +H +2 = N4+A+T+H =
gnz +1 +EF-——' | I+T+F +4 =
T+ +9 +0W = 41+ +Q =
g+n+é;+rr= C+{ 4+ 4+ =
T+ +C 4+ = G4+T+T+T =
+T{+T+¢e = H+A+T+T =
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'‘Big’ object and 'S” in the box beloy
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Exercise

Write ‘T" in the box below the ‘Tall" object and ‘5" i, the
‘Short” objects.

>

box bﬂrm

- *

'-:.-' . "JANM ﬁlﬂ-w
)_oud
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Exercise

Write ‘1" in the box below the ‘Inside’ object ang
below ‘Outside’ objects.

0" in the biow
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Exercise

Fill in the blanks with > or <.

G &
& &
F&F

24

iﬁ\

£448

59
e

(11

\R& 8

|
_
__
|
|

tee
el

11e 8.8

]

CICIN:: -
e2a8a® [
Soeooe
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Exercise

| it B 1 the box below the ‘Heavy' object and 'L in the boy
ri ;
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Exercise

_“_-‘_'-"'—._h‘

h the objects of the same kind :

Matc
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elow the ‘One’ object and ‘M’ in the boy

___-‘
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TWELVE 18 12
FOUR 8 4
FOURTEEN 4 14
oxTEEN 6 13
TWO 4 22
SIX 13 9

Write the numbers Name:

Z
8
18
|0
FIFTEEN I
ELEVEN |19
TEN |2

SEVENTEEN 17
|7

FIVE

3
7

|2
I5
B
10
27
15

4
17

3
14
13
15
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Exercise

Ring th 17 16 18 | TWENT)"—FOUR 25_424 2?

TWENTYFOLIR 26 24 25

--—'—i- ——— | Wk
n I r--'--.-—.-._i.“"‘;"ﬂ*

E=i

r?,lRTY—SlX . 34 36 38 |

—= ...1'.-'. ..__"" '__-;m

lRTY EIGHT 38 39 3?

1 THIRTYTHREE 33 22 32

;  Lwenty-tour
7

‘gwﬂ’f@amnfh‘ Pre-Primer
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Write the missing numeral :.
E &8 & | [ 47 | 49

¢ € ¢ 6 € € | sg ( 160
E - ".’.'El'"'hﬂﬂ:n_ Frn-l;rrmur
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40 60 S0 |
SIXTY T 18 49 || FIFTY-ONE 53 51 59§ |
FORTY-El —_ FORTY-SIX 48 46 47 |
fORD-FIVE 45 2 |

A “ "FORTY-FOUR 48 42 44 |
oy o ¢ ] Mol P UL

Write the number in correct order :

6? 63, 65 66, 64
10,0,0.0
77, 13, 75, 76. T4
NN N
NAN Jfg

Write the missing numeral :
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Addition by drawing [ines -

2 ——

B

3 :.
. d |H } N Draw three lines for 3.
ai _;+______L___"‘——-—- Draw four lines for 4.
L [ Then count all these lines and write.
e _
+ j el 8
— =+ 3 + 2 '
L ] [
pis, e
i 1 4 2 ,F ?“1
~Li'__3_ 1‘ + 6 2
— ] L J
2 8, 6
[ | e — -
| 2 6"
+5 %5 +1
) —
3 | 5
+ 3 3 + 4
| | ___1 . -_|
Py | 3
PullV + 7 + 6
) —
Maths Pra-F'rrmer'%;! e

-

N\
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B 5 B
| -

| 10 + 3/ + 4

I [

5155
__i:_zd’
—J ]
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Ring () the correct angyer -

- —

2o _‘_"—_-_-____'——-———________
2 + 6 = 2 + | = 7 4+ | =
® 1 6 Y
| | . 6 4 8 |
o _"“—'l _‘——'—-—-—-__—-—-—-—__.I
5 + 3 =
e 3+ 4 = 5 + 5 =
15 8 8 T 6 9 10 IT]
8 + | = 3 % 2 =
7 8 9
2| 5 4 3
4 & 3 = S
6 4 7] 9 8 10
SETeg - = 2 + 2 =
6 7 8 6 4 8]
2 + 5 = 3o+ 1=
6 4 1] 6 4 8
8 + 2 = il e
9 10 7 6 2 8]
6 + 3 = t + 3 =
94 8 9 10 8
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Add the following :
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Match the correct answer :

‘ .
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Exercise

i
Count and subtract the numbers of objects and write the answe o
the boxes:

& S5
S 2T - wee
PSP ?

—_ 4 —

B85,
BRR
AR
RRR,
R
a C
X
LT

N
I

‘ ‘ I |

¢ ¢
©
LU
<

Y
-

I

O - i

e &

LYYY QYY)
R —

O @bﬂ of T’ &*t
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I traction by drawing lines :

sub

——

BEFEE Draw straight lines for 5 and cut 2 line

to subtract 2 from 5. _ *
Then count all these lines and write.

[

\
W

)
=

6
|
0
: 9
2
.-Ir. __16.“-"'“
3/
Al
T,
|

1

)

py

i -Q.“I*
e
]
h -9-."
S A
]
=
)
=
-3
FFTé.“_l
=h ;
-5

apUs

N R | [

Maths Fre—?i-l m3%
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